oo oo2a00000

020110 3070

ooao 0o ood 0
000 00O
— 1 ©(2.138) —1- ®(-2.138)
93 01 1 —1-0.9837 — $(2.138)
—0.0163 — 0.9837
P(X — Y| > 10)
P(X — Y| > 10) = 2P(X — Y > 10)
0 s = P(X —Y >10)+ P(X - Y < —10)
188 011 =2P(z2>—-2 10175 10— 75
( \/100> :P<Z>>+P<Z<>
= 2P(Z > 0.25) = 0.80 v100 V100
— P(Z > 0.25) + P(Z < —1.75) = 0.4414
185 015 .= P(Z < 1.5) = 0.4332 -..=P(Z < 1.5) = 0.9332
01 6 = P(Z> —1.2) = 0.3849 = P(Z> —1.2) = 0.8849
pp.18201 O
_ 1 4 1 1 5
EX)=1x -+ 2x-~ 2=
(X) SR S T CT; 3=1 , .
_ 1[4\ 1 1 (5 5/ o
X)=12x-+(2) x- :__(2) =2 (=L
V(X) X3+(3> AR ET? (3) 27< 3)

000000000000 00000:0 102083000 X; =

oo,00000000000

1 1 1
u=EX;))=1x-4+2x-+3x ==

2 3

1 1
O'QV(XZ')12X2+22X+32X<Z

3

;o 1/2
1/3 0000000 O0OO00O000

3 1/6

5

Pt

5
9

2

000n=300000000000000EX)=,000 V(X)=20000000

n



